{1-

AT 7= 18 m/n
= prcaT<s h= S—
M%h a = g AT=1"%
C= ol 12!
1 Ui 3¢ 3 (!
== = M =
hIa T Tag St
9~
“20°% > 0> 100%
= Dg ’J-Ooc a O
Q1: mC, AT = 200 x29x 0,§=2000
- EM 9
Q= X = 200x 80= l6 000
- 0a IDOOC
0‘3: Mo AT = 200x 44X loo =20 %00
- Bm loo%
Q"l: MmN = Xoo x SUo = 08 oap
D 9=R, +Q, + Ry +R, = Mé ool = 611 x10° J
3- (L) Q_—_ (m Con 8T = {900 X 0,384 x 30 =1I,52 )(Iﬂg*a
b} Byofg
, dL :ochJT > viav = (Lol =843t a0 +3)0 82 a0
dv=p vdT
demwndo lenj-ﬂ.b;q 1’41% (L»AL)
L v= 12
2 AL
Veav =31 3000 < Vel *3 -V
L
T
/—nal- AV ® 3. chol Vv = 3Cx,_olTV =>PC:30(C//
c) W= ‘I P g‘V = PAV = A, 525403 st om® = {21 xlﬂ_zg
Av = Vﬁ“’i =V;(14uAT)—V,-=faV;AT:Se\V:m
x=17 xio~ k1! V.' AL 12008
AT = 30Kk
d) Av:zgq+w = |.'””°"}
"- 0) Wc;mc, >3 A[fﬂa”,& e > U= HKT ol) T}'h‘d.{'bw(o- +akloy Tim,
oo gt 2 I
_Ad0_ 3y _ . 4
c, =42 - 2L .3 ©
VT T 3nm KD _f__R b«‘an nm,Lga
.'Lna}dgfh
B bidowic > 34wl +2 Robiao 3 U= Sy T
ax V/L‘ﬂ%cir
_5
CV—IR
. 7 3
) Ddowice +ab‘a,+,,.,{b—> 3tuls +2 Robiao & 2x A kg 3 U= ST Cv:f’z'R
)
c,=2p
VT2 6R
9 Sehdo 2 0 Tudocas v
C

(0] Fﬂ}%ﬁ(r

03 \/'.lvna‘g;w

Cap. 2 Pagina 1

Nas e 3fMJ0>?r

3o

1*3\1:1”1;\@0-
2,
Cy=FR=6R

3R



5)

a) e O& rio ohiderian

U= jsl(BNT

!
“=m

c

b mz 0,783 md Iy

R =20,735 7 K~ ond !

p:CV+R = )4, 099 /;K"M"

m, 7 0,215md 0,

amy, = Mlz/(m)\ Mo =3y fandd.
0.785:29 40,215 32
0.25402/5°% M < M=24.36 9/,.,\,,9\
B Y St (o b 2
JD \% mRT Rt P = 1 4tm ] 1‘;(_(’"___"0'5“05 P
Kza.3lq;)k“mJ(
fravap/m ziatigled ooy
Oy T ~Lz071 YK,
el L
V2120L =012 m Poda abwfa : p = fatm l*rtcwj,,t, L PV=mRT
T= -8% =265k _ PV
Ap= 98x06= 0. 4m® PV=mRT, =5 m= =
Pt MML: 7R 2
= PYoo— - P
BVzp ATzo F&V—_—Rl‘:} Pl = _11}
T’ﬁ:—'moc—_lﬁsk {{Tﬁ TA
; . P _ Ty
F- (Pa'l‘m'Ps) Ap = (Pu—-rfrf)ﬁp = Boh (4= %) _305.81\///
7 1 = tl) = ( )—g- <'—>(P-_ )E M =2 _lﬂl_,'_. - 313K
< P e mly Pr = Paten t (M 4R h i ~Pitem ?-—m\—M =7 oy =H =3, 4

T, =300k h =50 v ,
- — = AP
AP— hi 2X07 m

k) P6_=PM,,, +m£: 1,05 gifrm

c) dU=§w+§q
A—Alulh;{‘r(o\- —_->Sq:0

A=W L= 31 pv 2> AV= —23(F"V‘ _FIV;)
3 = - s

v

§
W< —S}EJ\V = —P(}(V“—V;) <= _,\\/QL_- ’-_Pﬂs_;ﬂzl,oq
J i f

d) w=- ‘Pé(\%‘\‘i): 4,547

no v Ty STy= 285Ky
PI' V" Tl'

Cap. 2 Pagina 2



3

Rusahine (He)

V=526 x10° me

Tordn n:‘?‘Jm = AV=0
At = §0:0 2 AU=w

VHflfL PH=1L\fm Ty=%0K

?

cx) m=: PV=mRT

K
= Pabdl, = A4 i
FI; Pafon 4+VB olm

Plral

FD Vs =0.0
R7g

PoVg=mRTp > M=

F) p'z01qtm  aT=0 1)

_ 21 _ -
Midctia 80w Bofods inioh = Bl ook > Tia, Vo, =10, Vylo)
|
Vb_)‘L Tzi: ﬂ:rf-}ﬁ:,ﬂ._ﬁ_:g
‘v Cy v EE
_ N I)i‘,
La;, "o_‘:Tlg)(F'r) :,\Téo_‘-aoo (£)° =227 34k
]rj) PV”(P >P0)J ﬁl") Aaknlﬁﬂffl(a\ > AUV=W
\ :> En}nja- jG/)M”'
Tup <<Tos dV=mty dt

(1+%)-(_aﬁy|os Pa

45 mek

AAA‘A)‘H[Q\: PV r: cmt, > TVT-i:Cn'(n

W2 me (Toy=To,) = -6747

TnJJL ,6awwzo:Jo W= 6?' 9

Cap. 2 Pagina 3

PV
ﬁrﬁ] mHE:&:O(MJ_mi
HE

BUZ0 < g ¢ (Tag=T0 )= My S [Ty T ) 20 6

<=7 TJ,1 -z 6 (hoz_’:u +3 mHETH'E

=13 74k
5May *3Mpe v



A) ) Al my=abged” B - mHE:‘f?n,J" b)) A [’ff""aTA—'f ofT, = 3K
Py = 6 afm Pg = L3dm £y,7 21 =205 1k
Ty = 290K Tp = Ty =240k cpﬁr:CVA— tR= 24,094 Dk-‘"""“
vy =2L VpzyL B U JmﬁTB - qouny
212,471 Yk ok
P PsVa (\/ f ok ("J\
m, = =0.5m My z0.25md\ |
Ta RTg CVB =y, +R=20.735 _Jk"lmf
W,Ts Vg (Hy) - Mopg | MA(M‘,HE Y - 0.38
Vo (¥,) = Volre) | o N _\JM '
— AR . ] oy AoV,
C E A: h("A_-?%/ 3 dl) V= 3KB o Ny 2 /)
™o V,(He) = | skt
1°E B'n
_mp DMpema 3 ™
m_-\_/_. — _O_QSKa/m E
B B
6) AT=o
2) 4 AV=Q4w =0 I m, Prq
_ . - I o
w=9 7 bvzo Ch v RTeq = g 396

UzU(T) Map OTz0 0=V, +Ug :3,‘“(9
Cawmg U=V(T) g0 Ayz0 2> AT >0 =y Tul:.’z‘iok

12 0zu() Pop 0Tz0 0= Ups Ug 23.9K)
- M . - My 4m
23) p:= 'VKT“] <= P, = MM P‘:an = 3hm

Pog = Py # Py = My Rl t RTM-“,JM > Vﬂbé‘(a ml!
A-wﬂ Vi 4V,

Cap. 2 Pagina 4



